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Show that the following function increases monotonically. Find the extremum value of the following function.
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Check the increase and decrease of the following functions.
#* The domain of the function is x >0 .
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{ﬁ'J%E 3? ;&f(x)— xVx+ 6 %ﬁ/\%‘l—i Determine the value of the constant a so that the following function takes an
extreme value at x=1. Also, find the extreme value of the function in this case.
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Find the extremum of the following function. /2+2 X/—a-+2 =0 X" a=5
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Differentiate the next function.
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Find the extreme value of the following function using the second derivative.
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Find the extremum of the following function.
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